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1) In which of the following ways mre ALL living things alike?
A) They all have circulatory systems.

B) They all undergo mitosis.

) They are all composed of cells with nucled.

I3} They all contain complex, reduced molecules.

E) They all breathe.

2% Current theories of prebiotic evolution are based on evidence for all of the following EXCEPT
A) abiotic replication of oligopeptides,

B) abiotic origim of DNA-protein interactions.

C) abiotic prodection of proteinoid microspheres.

D) abiotic polymernization of 2mino acids.

E) abiotic production of srall organic meolecules.

3) In the following list of major metabolic pathways, which ome must have been the most recent te evolve?
A) oxidative phosphorylation B} glycolysis

) fermentation D) sulfur-producing photosynthesis

E} O2-producing photosymthesis

4y All of the following are TRUE statements about prekaryotes EXCEPT
A} Some prokaryot=s can live in extresne habitats.

B) Prokaryotes are the most importapt photosynthesizers.

() Prokaryotes are the most numerons organisms on Earth.

D) Prokaryotes Gominate the biosphere.

E) Some prukmjmtﬁmimpmia?tasdmumpum

5} In what ways are all prestists alike?
A) They are all photosynthetic. B} They are all manpe.
C} They are ali nonparasgitic. D) They are all multicellular.
E) They are all eukaryotic.

'|6) According to the endosymbiont theory of the arigin of eukaryetic cells, how did mitochondria origmate?
A) a protoeukaryote becoming symbiotic with a protobiomt

B mukations of genes for oxygen-using metabolism

C) enguifed, originally free-living prokaryotes

D the nuclear snvelope folding outward
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7) The mcestors of land plants were most likely similar to modern-day members of the
A) Rhodophyta (red algae). B) Phacophyta (brown algae).
C) Cyencbacieria (blue-green algae). D) Chrysophyta (distoms and golden-brown algae).
E)} Chlorophyta (green algac).

8) Which of the fuﬂumgﬂrgwdu NOT have a jacket of sterils -:ellsﬂ:mtpmtectd&vclupmg gametes and
embryos?
A) mosses B) hverworts ) brown aigae D] ErmE}mularplanls

¥ Anginsperms are the most successful mﬂphm.ﬂmmmduﬂuaﬂnfﬂm following EXCEPT
A) reduced gametophytes. B) speam cells with flagella

) xylem with vessels. D) fruits enclosing seeds.

E) anima! pollination.

10) All of the following plant struchures are adaptations specificzily for a terresinial environment EXCEPT
A) waxy cuticle. B) roets. C) seeds. D) xylem. E) cell walls.

11) Whick: of the following do all fungi have in common?
A} absorption of nuirients B) symbioses with algae
C} coenocytic hyphas]}}mmnmsmhamdm
E) sexual life cycle

12} What is the threadlike basic structural element of a fimgus?
A) filament B) hypha C} mycelium D) mold E} pseudoparetrchyma

13} Al of the foliowing are protostomes EXCEPT
A} mollusks. B) segmented worms. C) spiders.
D} echinoderms. E) msacts.

14) Which of the folpwing terms or struchires are NOT associated with animal cells?
AY zygoie B) enkaryotic C) blastula D} cell wall E) desmosomes

15) All of the following amima? groups have evolved terrestrial ffe forms EXCEPT
A) Crustacea. B) Vertebrata. C) Arthropoda. D) Echinodermata. E) Moilusca.

16) Corals are most closely related to
A) jellyfish. B) sponges. C) sea anemones. D) freshwater hydras. E) comb jellies.

t7) Which sequence of evohgtionary reiationships is consistent with the fossil record?
A) reptiles rightarrow birds rightarrow fishes righturrow amphibians
B) reptiles rightarrow birds rightarrow amphibians nghtarow fishes
Y veptiles rightarrow amphibians rightarmow birds nghtarrow fishes
D} fizhes rightarrow amphibians rightarvow reptiles rightarrow birds
E) fishas rightarrow binds rightarrow reptiles rightarrow amphibians

18) The ammiote egg first evolved in which of the following groups?
A) birds B) reptiles C) ege-laying mammals (monotremes)
D) amphibians E) fish .




19) Vascular plant tissee inclrdes all of the following ceill types EXCEPT
A} sieve cells. B) tracheids. C) camabium ¢ells. D} compamion cells. E} vessels,

20) What tissue makes up most of the wood of a fres?

A}Wpﬁmﬂ}mphyﬂmﬂsmmdmwlm
1Y) primary xylem E) vascular camiyiom”

21) Hydrophyies, plants that are adapted to live in aguatic habitats, are most h]::e-lytﬂshuw which of the
following morphologies?

A) storoata located on the top of leaves B) stomatz located in pits

C) no vasceiar tissue D) 0o roots E) leaves reduced to spines

22y Water flows into the source end of a sieve tube because

A) sucrose has diffosed into the sieve tube, making it hyperosmotic.

B) the companion cell of 2 sieve tube actively pumps in water.

C} water pressure outside the sieve tube forces in water.

D} sucrose has been dumped from the sieve tube by active transpott.

F) sucrose has been actively trensported into the sieve tube, making it byperosmotic.

23} What are epiphytes?

A} plants that have a symbiotic relationship with roots

B) piants that ive in poor soil and digest insects to obiain nitrogen

C) plants that grow on other plants but do not obtam notrients from their hosts
D) haustoria for anchoring to host plants and obtaining Xylem sap

E} aerial vines common in fropical regions

2¢}Iuﬂ1enuniﬁnnnfaplan;whi¢h=1¢mﬁntisclassiﬁedasamamnnuhimt?
A) mlciumE}mﬁngmmC}nhlmineD}zinnE}mulybdmum

25) Morphogenesis in plants is largely aresultof .
A) penetic differences among the cell lineages mvolved.
B) the plane of cell divisions and the direction of cell expansion.
C) morphogens that create gradients in develaping leaves.
D) Only B and C are cormet.
E) A, B, md C are comrect.

ﬁﬁjlnpimm, which of the followiag could be an advantage nfsexlmlrepmducuunasnppomdtuawmal
ion?

A) greater longevity B) mitosis C) stable populations

D) rapid population merease E) genetic variaton

Iﬂmeeﬁﬁtufg&mdhmmmmﬂnﬂmmhﬂrufcmWanpmdm
A) lipids. B) abscisic acid. C}RuBPmbnxﬂmD}starch E} amylase.

28) The only known naturally occuming s is
A)ABA. B)2,4D. Q) [AA D) GA E) TCA.




29) Interstitial fluid
A) provides for the exchange of materials between bicod and cells.
B} forms the extracellular matrix of commective tissue.
) is found nside the small intestine.
D) is the mternzl spviroement foend m animal cells.
E) is compased of blood. :

30) Which of the following materials would NOT be important to a protozoan?
A)oxygen B)carbohydrates C)blood D) water E)enzymes

31} All of the following are adaptations to an herbivorons diet EXCEPT :
AYa rumen. B) bile salts. C) broad, flat teeth. D) amylase. E) ingestion of feces.

32) Some mutrients are considered "essential™ in the diets of certain animals because
A) they cannot be mamzfactured by the organism. :

B} they are necessary COENZymes.

('} they are subunits of important polymers.

D} omiy thase mnimals nse the mzinents.

E) only some foods coztain them.

33) Where do zir-breathing insects carry out gas sxchange?
A) in the alveoli of therr lings

B) in specialized extamal gills

C} in specialized internal gills

D) across the thin cuticolar exoskeleton

E) across the enembranes of cells

34) Which of the foliowing features do all, gas exchange systems bave in cornmon?
A) They are enclosed withinribs.  B) The exchange surfaces are moist.

C} They are exposed to air. D) They are mamtamed at a constant temperainre.
E) They are found only in apimals.

35) What are antigens?
A) antibody-generating foreign macromolecules
B) proteins embedded in B-cell membranes
) proteins that consist of two light and two heavy polypeptide chains
D) proteins found in the blood that capse forsign blood cells to clump
F) Both A and C are cortect. 7 '

36) The clonat selection theory mipiies that
A) antigens activate specific lymphocytes.
B) reiated people have similar rmmune responses.
C) only certain cells can produce interferon.
D) memory cells are present at birth. N
E) the body selects which antigens it will respong to.

r
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37) Most texrestrial amrnats dissipate excess heatby

A) acclimation. B) evaporation. C) hibermation. D} countercurrent exchange.
EY vasoconsinichon.

38) All of the following represent adaptaumsbymﬁmﬂammalstﬂ drying conditions EXCEPT
A) impervions surfaces. B) efficient kidneys.

C) salt ptands. D) anhydrobiosis. -~

E) increased thirst.

39) Which of the fotlowing hormone sequences is CORRECT?

AY LH rightarrow F5H rightarrow adrengl glands

B) GNRH tightarrow FSH rightarrow LH nightarrow pineal gland
C) GNRH rightarrow FSH rightarrow ovaries

D) CRH rightarrow LH rightarrow tegtes

E)} CRH rightarrow ACTH nightarmow FSH rightarrow thyroid gland

43} Which of the following is an endocrine gland?
A) sweat gland B) sebaceous giand C) gall bladder D) sakivary gland E) parathyroid gland
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